Efficiency vs dr

0.5
0.45

0.35]

efficiency vs AR
=}
D

0.25
0.2
0.15
0.1

o
w
LU RLLRRN LR LR RRRRN RRRLE LLRRN LRRLN LRRR

0.05f--+ : ok
o 0 o ] } ey
B —— DQM_V0001_R000000001__Global__mkFit_baseline
g ’ —e— DQM_V0001_R000000001__Global__mkFit_var
P T e DQM_V0001_R000000001__Global__mkFit_jcoreNoClean
| R [ X
107 1072 10™

1
TP min AR

[ Efficiency vs dr (track,jet) |
1.2

0.8

0.6

efficiency vs AR(TP, jet

0.4

0.2

Ratio

-1

Efficiency vs pu

50.02
o -
9.018
d.016f
(]

®.014
=

%.012

B S S S
[1

0.6 2 - - k b : : : :
0 2 4 6 8 10 12 14 16 18 20
Pileup




	Contents
	Page 1


